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SA AEAAIAIA A
M MEHSSd
el MENS |4 (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
AT RAAAIA A 6,539,287 6,213,225 326,062
| 316,351 316,351 0
S 346,779 271,779 75,000
s 5,461,757 5,250,695 211,062
= 414,400 374,400 40,000
HEH IS 6,425,325 6,213,225 212,100
2l 316,351 316,351 0
= 346,779 271,779 75,000
= 5,347,79% 5,250,695 97,100
= 414,400 374,400 40,000
HENE Sd 2,100 0 2,100
AERAMAAA N (HRFEIH]) 2,100 0 2,100
203 BRF=LH| 2,100 0 2,100
04 RASLERFAH 2,100 0 2,100
ORKNSZERFAHI
350,000 +60H 2 2,100 0 2,100
NLEIHFAILeI LS 1,316,000 1,176,000 140,000
= 290,000 240,000 50,000
[ias 616,000 566,000 50,000
= 410,000 370,000 40,000
HSAIE AXI(RHA) 352,000 302,000 50,000
401 AIEHIZL 2 OHYI 300,000 250,000 50,000
01 AlZHI 300,000 250,000 50,000
OL® MSAIE LA & Jy 50,000 0 50,000
JIOFBHILIAE =) JIsEY 90,000 0 90,000
(= 50,000 0 50,000
= 40,000 0 40,000
401 AlIEHIZL 2 0HY| 90,000 0 90,000
= 50,000 0 50,000
= 40,000 0 40,000
01 A&l 90,000 0 90,000
OJ10r=BHILIAZ =HIR JIs22
90,000,000 90,000 0 90,000
= 50,000 0 50,000
= 40,000 0 40,000
dEM=s 54 243t 4,126,928 4,056,928 70,000
) 316,351 316,351 0
= 56,779 31,779 25,000
= 3,749,3%8 3,704,398 45,000
= 4,400 4,400 0
= MS3 MSA HEXH 595,650 595,650 0
307 212t01 & 595,650 595,650 0
04 QIZHHAIAIH 2 £ 595,650 595,650 0




SA ATIAAAAL
M MEHS|Y
CHR: MEHS |4 Y 243 (CHe) &)
M- SA(3) - MRAY - BES (1;| Palgely I & A Hlns
ONI18l 2L SRS N
a3y 0 0 5,000 5,000
ONI28l AT ZE3IE MY S20HE =
5,000,000 13 5,000 0 5,000
SIHES AXNRSHIE HE X2 90,000 90,000 0
bl 90,000 90,000 0
201 LeteHy) 16,861 27,756 ~10,895
Jl 16,861 27,756 ~10,895
01 Al22t2|H| 16,861 27,756 ~10,895
OstHES MEARSHIIE &4 1A
A 16,861,000 16,861 27,756 ~10,895
bl 16,861 27,756 ~10,895
301 LetEX2 73,139 62,244 10,89
bl 73,139 62,244 10,89
R2osH -  2SESEA2 73,139 62,244 10,89
OStHES ME2SHIIE HE XA
3 73,139,000 73,139 62,244 10,89
bl 73,139 62,244 10,895
=2 HMSUHa HE XN (BX) 245,000 175,000 70,000
(= 40,000 15,000 25,000
= 205,000 160,000 45,000
307 QI2+0| & 245,000 175,000 70,000
= 40,000 15,000 25,000
= 205,000 160,000 45,000
04 QIZISHAIAIR B X 245,000 175,000 70,000
O2024 TOote|2tl 8= =208 JhE
55,000,000 %13 55,000 0 55,000
[ 10,000 0 10,000
2 45,000 0 45,000
O3 Bt R AZHE 82 =3
al(Hed) 15,000,000 15,000 0 15,000
(= 15,000 0 15,000
SHESHAH| (AL IAAAIAA) 109,403 0 109,403
Ol 2AH| 27,497 0 27,497
Q22 H| 27,497 0 27,497
101 QIAH| 27,497 0 27,497
01 B 27,497 0 27,497
OAZXAAAIAA ARt 224E 27,497 0 27,497
— Ut 27,497 0 27,497
- 62 12,5312 %4 #40 A 2+61 & 12,030 0 12,030
72 11,3192 x3Z *40 Al 260 & 8,150 0 8,150
-82 10, 16221 %3 *40A| 2++6IH & 7,317 0 7,317
Jl2zsl 81,906 0 81,906
J|2AH| (AT AAAIAA) 31,242 0 31,242




A ATTAAAI A
M AHHPHAH|(AZAAAIGA)
oel: D23l (SH &)
SA - BB 9(B) - NIRA - BaS ol ke ol & o SimE==t
201 22 31,242 31,242
01 AFS2t2ltl 27,618 27,618
OYRFE ARES 72
10,0002 22 H +6IH & 1,320 0 1,320
OYRF& It SAZK 2
25,0003 x22H 0.8t A6 2,640 0 2,640
OgRFd =0 2=
500,000 *2CH*6IH 2 6,000 0 6,000
OmglH EH 7 (EH)
250, 000 & 9K *33| *80% 5,400 0 5,400
OZgle EH 2e(&dH)
300, 0002 *9JH*33] +80% 6,480 0 6,480
OAMBRA =] sXl2ta
225, 00024 x2CH =6 2 *80% 2,160 0 2,160
OAMRA 2EXE 2=
603,000 *1CH+6IH = 3,618 0 3,618
02 =23l 3,624 0 3,624
O2EX |RFHI 1,680&%72 § *253= 3,024 0 3,024
O2EXE |2/ 100,000 & x6 600 0 600
JI28H[(AZ =T HE) 14,652 0 14,652
201 2Et2 & 1,512 0 1,512
01 AFS2t2ltl 1,512 0 1,512
OAZ=FM ARFLT SEH|
8,000 3 +60 +80% 1,152 0 1,152
OAEZHM AR MRES 2
20,000 *3H+6IH & 360 360
202 Ot| 13,140 13,140
01 =LHOH| 13,140 13,140
OAZ=HI AR X 2 SH LI
20,0003 x3H-9U+6IH B 3,240 0 3,240
OAZ=HM ASZX 22| ST
110,000 *3ZH 3 * 103! 9,900 0 9,900
JI2dH[(AZ=AIZE) 21,360 0 21,360
201 ZeH22 ] 12,600 0 12,600
01 ArR2eltl 12,600 0 12,600
OAE=EAE HRFE =]
8,000& » 158 %90 10,800 0 10,800
OAZ=ANE HRFE ARES 2
20,0002« 15«61 3 1,800 1,800
202 04| 8,760 8,760
01 204l 8,760 8,760
OAEZ=AIL HEFD 2 SE NI
20,0003 x2H+9 60 2 2,160 0 2,160
OAZZAIE HEFE 202 SEH0LI
110,000 x2Z +32*103] 6,600 6,600
JI23U(AXZ=0IHEE) 14,652 0 14,652
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